/74

W79 =h)LT—% / Technical Datall

#H{ThILY / Recommended torque

FNA 7T AR ILEM3x10 / Hexagonal M3-10 : 0.2N*m
#ETRBH1EF~M2.5x7 / Captive pan head M2.5-7 : 0.15N*m ~ 0.2N*m

FDE R / Other screws : 0.3N*m ~ 0.6N-m

B (BERREDOO) / Color Type (End of product number11)

HERINZ / Components

No. %R / Part name #= / Pes #&E / Material & - R / Color-Finish
’ a—r—Jayy 4 FILEZ A XX ADC12 DILN— - BE (NEVEQIER)
Corner block Diecast aluminium ADC12 Silver=Painted (Unfinished inside)
9 Btk ) TIVSIRHIA A6063S-T5 DILA— & (REMEAE)
Frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
2 TL—L . TILSIRHA A6063S-T5 DILA— & (REMELE)
Panel support frame Extruded aluminium A6063S-T5 Silver=Painted (Unfinished inside)
. IR ) 7 ILEHR A1100P DIVA— - ER (REERNE)
Panel Aluminium A1100P Silver+Painted (Conductive inside)
5 HR— : 7 L4 A1100P DIVA— - ER (REERNE)
Top cover Aluminium A1100P Silver+Painted (Conductive inside)
6 ThiN— 1 7 LR A1100P DIVA— R (EEERNE)
Bottom cover Aluminium A1100P Silver+Painted (Conductive inside)
; aA—F—H—FK o TPE (T5RKT) TSV, Jb—, FAE— Lk
Corner guard TPE (Elastomer) Black , Gray , Navy , Red
o EMCY—ILEARryk 1 BE MM (UL94V-0) Ao TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 ER{HE X (IMM3 x 8) 16 £ L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
0 IRFER RANRFRILEMS x 10) o % =R IAiA—+
Screw (Hexagonal M3-10) Steel Black trivalent chromate
» BR{FTER GETRFLEFRM25 x 7) o % =T ILAYE
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

i85 / Code T ILE4—X / Aluminium enclosure a—F—7H—FK / Corner guard
S B < JLsN— / Silver 75v9% / Black
S G < )LsN— / Silver J'L— / Gray
SN 2 JLIA— / Silver FAE— / Navy
S R 2 )LsS— / Silver Lk / Red

Fh/Title
TAKACHI| HHASHENTFERIE A—F—H—FHFEMCL—ILEr—X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
RE/Scale

7K 8/ Approved 1%/ Checked

iR ES

#I[X]/Created FIE /Product number

fi] A

AUGE115-36-16-0101

R—/Page

1ERK B /Date

2025/06/24

177

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




160+0.5 (&r— A4\ / External)

B-B(1:55)

36005 (r—R4 2 / External)

D view

113

R24

E view

o}

T
D
A view

F view

50

R52

A-A(1:55) C-C(1:55)
= s
/4
146 353
C view B view
168
=

9]

N
=
£
S D-D(1:55)
X
LLi
~
E.\é
%
T
>
™
o
+
4

4/ Title
TAKACHI| HHASHENTFERIE A—F—H—FHFEMCL—ILEr—X @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. EMC SHIELDED ENCLOSURE with CORNER GUARD
& 5%/ Approved t&X/Checked #[X/Created FIE /Product number RFE/Scale
1:55
iR ¥ A& AUGE115-36-16-10 p—s v
{ER B /Date 2025/06/24 2 /1

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C ¥ / C Frame

110 225
(9]
(g
@
™
< =
= S
2.5
@
™
\-",__v—,-a
™
< #=
‘_ L2\ 7\
W on
5 2-M3EH S5} 5
2-M3 Countersunk
M / Front side X R ELRHk / Same on the other side. ZZ M / Back side
D {l#% / D Frame
(s
\-"‘,_':m
—]
7 A\
RS/ &/
3@ / Front side 2 / Back side
mn4/Title A —
A ==
TAKACHI| MASRHINTFERIE 4R O L]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved 1&[X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:2
iR 3 EES e
H115 - D160 1ERK B /Date 2024/07/25 3 /1
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




16

225

ra
RS
| ')

286

J—

) E—

2 g

" 04

310

©)
\YJ

2-M3FEH SR
2-M3 Countersunk

6.5

2-M25

14

5.5 10.5

ET47K / Total 4 pieces

BARHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
JL—LA

Panel support frame

O]
YL

£3/Approved 18X/ Checked

iR ES

#[X/Created

FH

FIF /Product number

RE/Scale
1:15

W360

YERZ B /Date 2022/11/16

R— /Page

4 /7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\2RJL / A Panel

309.5
K O]
N
o
~—
[ & & |

B#TiE / Max dim.302+0.5

M / Front side

B /34 JL / B Panel

28 S ]

7/ {a
2 2

LN N2 |

M / Front side

A#~tiE / Max dim.81.6+0.3

4-M25F AR LRI —T
4-Metal sleeve for M2.5

286

3.5 2

0 [—=
0
>

[ [

| / Back side
[ s
[ 8

ZE T / Back side

a4/ Title
TAKACHI| X2 hFERIE ISR (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR X FipN R—/Page
H115 — W360 1ERk B /Date 2025/04/25 5 /17

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<
g 8

M / Front side

349.4

330

o
2/

A% / Max dim.

313+ 03

4-B45

H#¥ Tk / Max dim. 113 £ 0.3

/3 N
REES—MAY
Surface protective film side
N o/
Z & / Back side
4/ Title
TAKACHI| HAZHINFEKIE FN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3.5
i 3 5T e
W360 - D160 {Emk B /Date 2025/04/25 6 7/ 7

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

149.4

349.4

330

130

o
2/

RME / Front side

A% / Max dim.

313+ 03

4-B45

H#¥ Tk / Max dim. 113 £ 0.3

s )
REES—MAY
Surface protective film side
o o
2 / Back side
4/ Title
TAKACHI| HAZHINFEKIE THhiN— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
23/ Approved t&X/Checked #I[X]/Created FIFE /Product number RE/Scale
1:3.5
iR 3 %7 —
W360 - D160 {ERL B /Date 2025/04/25 777

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




